ECO 610 Midterm Exam : Name:

June 2016

100 points total. Point values for each question are as indicated. Answer each question in the space
provided. General advice: show your work, including any formulas or diagrams that you use in
reasoning through your answers.

1.

(10 pts.) A drought in California sharply reduces the carrot crop, causing a sharp decline in the
amount of carrots available for U.S. households to consume. If the U.S. were a centrally planned
economy, how would this reduction in carrot consumption be accomplished? The U1.S. isnota
command economy, but instead relies on markets to allocate resources. How will the necessary
reduction in carrot consumption be accomplished? Your answer should incorporate things like
incentives and the transmission of information.

(10 pts.) Taking their inspiration from Venezuela’s late leader Hugo Chavez, Lexington’s City
Council decides to adopt consumer protection legislation aimed at preventing college students
from exploitation by the city’s bar owners. Toward that end, they impose a price ceiling on draft
beer of $2.00 per glass. They take this action after observing that most bars are charging between
$4 and $5 for specialty craft beers like the East 6™ and CityBoy brands. Illustrate what you think
will happen in the market for craft beer sold on draft in Lexington. Then elaborate on other ways
that beer sellers might respond to this maximum legal price, '

) . . . N x . Q

dratt FPeer sold é?’ Fha jf'ﬁﬁ’ﬁ




3. (10 pts.) As the new general managet of Kentucky Kingdom amusement park, you decide to
experiment with prices for the various products you sell. When you raise the price of admission
from $45 to $55, average daily attendance falls from 7700 patrons to 6300 patrons.

Calculate own-price elasticity of demand for admission to the park. Given the number that you
calculate, will total revenues from admissions go up or down when you raise price?

4. (5 pts.) One of your newly hired marketing analysts suggests to you that another important
consideration in this pricing decision is that the cross-price elasticity between the price of
admission tickets and sales of hot dogs, soft drinks, and souvenirs is -1.5. After you have tried
this experiment for a month, will you consider it a success or go back to what you were doing
before? Briefly explain why.,

5. (10 pts.) Ilustrate and briefly explain what is implied by the cartoon below about the market for
upscale kitchenware shops in the town where the two cowboy entrepreneurs live.




6. (10 pts.) You are thinking about buying a plumbing supply business from one of your neighbors.
Her business has a number of valuable assets which you have evaluated and placed a value on,
such as building, equipment, a stable group of employees, and an established customer list and
business goodwill. One thing that you are struggling with is how to value her considerable
inventory of copper tubing, which you will own when you buy her business. She suggests that it
would only be fair to use the historical wholesale cost for each inventory item, since copper
prices have gone up and down quite a bit over the past several years. A friend of yours who just
completed ACC 201 and got an A tells you to use either LIFO or FIFO, since both are GAAP-
approved approaches. Neither of them has an MBA, however. What do you think?

7. (10 pts.) You decide to drop of the MBA program and return to work on your family’s farm,
growing soybeans, It is spring, and you need to plow the fields in order to plant a new crop of
beans. You are currently using a medium-sized tractor that you rent by the day from another
farmer, and you have hired a worker to drive the tractor and plow the fields. Your neighbor has a
larger tractor which you could rent for 50 euros per day more than you are currently paying for
the medium-sized tractor. With the larger tractor you could plow 4 hectares more land in the
same amount of fime. You are currently employing the worker for eight hours each day. If you
continued to use the medium-sized tractor but had the worker plow for an additional hour, you
would have to pay 10 euros in additional wages, but 2 more hectares would get plowed. Are you
using labor and capital efficiently? Use an equation to discuss whether you are using the efficient
mix, or whether you should use either more labor and less capital or more capital and less labor.




8.

(15 pts.) The following table describes the short-run production relationship for a firm that
produces a single output, Q, with two inputs, L and K

K 10 10 10 10 10 10
L 0 8 16 24 32 40
Q 0 30 96 162 192 200

Suppose that the wage rate is $5 and the rental rate on each unit of capital is $5. Sketch the firm’s
average fixed cost, average variable cost, and average total cost curves in the diagram below.
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9. (5 pts.) Does the shape of this average total cost curve illustrate that the firm experiences

economies of scale?




10. (15 pts.) PepsiCo decides to add Ramen Noodles to its product line. You are selected to be the
brand manager. Before going national with the introduction of this new product, you get the
marketing research department to conduct some field tests to get a feel for the demand curve,
They come back with the following report. When they set a high price at the Euclid Ave. Kroger
store, a neighborhood populated by lots of UK students, demand per household was Qo. When
they set a low price at the Hartland Kroger, a neighborhood populated with relatively high-
income households, demand per household was roughly the same, Q. From this they concluded
that consumers are very insensitive to changes in price for this product and the demand curve is
practically vertical, since own-price elasticity of demand was near zero. Critique the marketing
experiment that they conducted, bringing into your answer concepts we have studied in this class.
Using demand curve concepts, illustrate what is going on in the diagram below.




